


VISUAL LATIN 1 QUIZ 1

CHOOSE THE BEST ANSWER.

1. The Latin word est means /s.  A) true B) false

2.The Latin word est never means he, she, oritis. A)true B) false

3.The Latin word sunt also means is. A) true B) false

4.In Latin, the verb is always at the end of the sentence. A) true B) false
5.Latin uses the article adjectives a, an, and the A) true B) false

6.To form a negative sentence in Latin, simply add the word A) non B)est C)
sunt

7.To form a question in Latin, simply add to the end of the verb.
A)non B)est C)sunt D) -ne

8.Mom in America . A)est B)sunt

9.Mom et Dad in America ) A) est B) sunt

10. Andrew in Asia . A)est B)sunt

1. Andrew et Carl in Asia . A)est B)sunt

12. Sarah non in Asia . A)est B)sunt

13. Sarah et Mary non in Asia . A)est B)sunt

14. Mary et Sarah et Hannah in Australia . A)est B)sunt

MATCH THE LATIN WORD WITH THE ENGLISH DEFINITION.

15. angelus a. good

16. sunt b. sky, heaven
17. bonus C. are

18. caelum d. in

19. in e. angel

20. est f. is
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VISUAL LATIN 1 QUIZ 2

CHOOSE THE BEST ANSWER.

The Latin word est means is. A) true B) false
The Latin word est may also mean he, she, oritis. A) true B) false
The Latin word sunt means are. A) true B) false

NN

When a noun follows a linking verb, the noun is a predicate nominative. A) true
B) false

5. When a noun follows a linking verb, the noun is a predicate adjective. A) true
B) false

6. When an adjective follows a linking verb, it is a predicate adjective. A) true B)
false

7. Angeliin caelo . A)est B)sunt

8. Michael et Gabriel angeli . A)est B)sunt
9. Zebra magna . A) est B) sunt

10. Penguin non magna . A)est B)sunt

1. Zebra in Africa . A)est B)sunt

12. Zebra et lion in Africa . A)est B)sunt

13. Mom non in Africa . A)est B)sunt

14. Mom et Dad non in Africa . A)est B)sunt

MATCH THE LATIN WORD WITH THE ENGLISH DEFINITION.

15. caelum a. angry

16. iratus b. sky, heaven
17. non c. is

18. laetus d. happy

19. et e. not

20. est f. and
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VISUAL LATIN 1 QUIZ 3

® N AW

10.

1.

12.
13.

14.

15.
16.
17.
18.
19.

CHOOSE THE BEST ANSWER.

Masculine nouns in Latin always end with the lettera. A) true B) false

In Latin, the verb is never at the end of the sentence. A) true B) false

Latin uses the article adjectives g, an, and the A) true B) false

It feels good to hug a cactus. A) true B) false

In Latin there are genders. A)one B)two C)three D) four

English has genders. A)one B)two C)three D) four

Feminine nouns in Latin end with the letter A)a B)e OCr D)x

Which word is not a feminine word? A)stella B)casa C) mamma
D) cactus

Which word is a feminine word?  A) stylus B) angelus C) mamma
D) cactus

Masculine nouns in Latinend with  A)a B)us C)r D)um

Which word is not a masculine word? A) terra B) cactus C) tyrannosaurus
D) stylus

Which word is a masculine word? A)stella B)casa C)mamma D) cactus

To form a negative sentence in Latin, simply add the word A) non B) est
C) sunt

Adding the suffix -ne to a verb in Latin createsa A) sentence B) question
C) verb

Circle the gender of casa. A) masculine B) feminine C) neuter

Circle the gender of mamma. A) masculine B) feminine C) neuter

Circle the gender of antenna.  A) masculine B) feminine C) neuter

Circle the gender of cactus. A) masculine B) feminine C) neuter

Circle the gender of hippopotamus. A) masculine B) feminine C) neuter

MATCH THE LATIN WORD WITH THE ENGLISH DEFINITION.

20. angelus a. war (can also mean: beautiful)
21. angeli b. sky, heaven

22. bellum c. angels

23. caelum d. sing

24. cantant e. angel

25. cum f. with

Visual Latin | compassclassroom.com | © Compass Cinema 2015 | Version 2.0 | 4



VISUAL LATIN 1 QUIZ 4

CHOOSE THE BEST ANSWER.

1.  All plurals are formed the same way in Latin. A) true B) false
2. Masculine nouns in Latin always end with the lettera. A) true B) false

3. To form the plural of a feminine noun in Latin, change the finalato A)a B) ae
Or

4. To form the plural of a masculine noun in Latin, changeusto A)a B)ae OC)
us D)i

5. Feminine nouns in Latin end with the letter A)a B)e OC)r D)x

6. Feminine plural nouns in Latin end with the letters A)ai B)ae C)ao D)
au

7. Which word is not a plural word? A) stellae B) casae C) mamma D)
antennae

8. Which word is a plural word? A)stella B)casa C)mamma D) antennae
9. Plural masculine nouns in Latinend with  A)us B)i C)a D)um

10.Which word is not a plural word?  A) cacti B) cactus C) tyrannosauri D)
hippopotami

1. Circle the plural of casa. A)casa B)casae C)casar D) case

12. Circle the plural of mamma. A) mamma B) mammae C) mamma mia!
13. Circle the plural of antenna. A) antenna B) antennae C) rabbit ears

14. Circle the plural of cactus. A) cactus B)cacta C) cacti

15. Circle the plural of hippopotamus. A) hippopotami

16. Circle the plural of angelus. A) angela B) angelus C)angeli D) angelic

17. To for the plural of a neuter noun, change the endingto A)a B)us Q)i
D) ae

18. Circle the plural of caelum A) caeli B)caela C) caelum
19. Circle the plural of bellum  A) bellum B) bella C) belly D) button

MATCH THE LATIN WORD WITH THE ENGLISH DEFINITION.

20. bestia a. empty
21. bestiae b. new
22. terra C. beast
23. vacua d. beasts
24. ubi? e. earth
25. novus f. where?
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VISUAL LATIN 1 QUIZ 5

10.

CHOOSE THE BEST ANSWER.

The genitive case shows possession. A) true B) false
The subject of a sentence is in the nominative case. A) true B) false

Translate the jtalicized word: Angeli sunt in caelo. A) angels B) an angel
C) angle

. Angeli suntincaelo. A)is B)were C)are D) willbe
. Angeli sunt in caelo. A)onearth B)inheaven C)inthe water D) on the

ceiling
Which word is not a plural word? A) angleus B) angeli C) bestiae
D) herbae

Which word is a plural word? A) herbae B) herba C) herb D) herbie

. Masculine nouns in Latin end with  A)us B)r C)a D)um

Plural masculine nouns in Latin end with  A)us B)i C)a D)um

Which word is not a plural word?  A) cacti B) cactus C) tyrannosauri
D) hippopotami

MATCH THE LATIN WORD WITH THE ENGLISH DEFINITION.

1. aqua a. NOwW

12. iam b. night

13. terra c. day

14. nox d. water

15. dies e. earth

16. lux f. light

17. ubi? g. dark

18. sub h. below, under
19. oppidum i. town

20. obscura j. where?
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CHOOSE THE BEST ANSWER.

Adjectives nouns. A)rename B)replace C) describe

English has genders. A)one B)two C)three D) four

Latin adjectives “agree” with nounsin  A) gender B) number C) case
D) all of the above

Choose the correct adjective to describe terra.  A) bellus B) bella C) bellum
The big room = cubiculum A) magnus B) magna C) magnum

The large plant = herba A) magnus B) magna C) magnum

The empty place = focus A) vacuus B) vacua C) vacuum

Good water =aqua A)bonus B)bona C)bonum

9. The large beast = bestia A) magnus B) magna C) magnum

10.The long war = be/llum A)longus B)longa C)longum

1.
12
13

14.
15.
16.
17.
18.
19.

The beautiful sky = caelum  A) bellus B) bella C) bellum
. The angry beast = bestia A)iratus B)irata C)iratum
. The small beast = bestia A) parvus B) parva C) parvum

New land = terra A) novus B)nova C) novum
The dark land = terra  A) obscurus B) obscura C) obscurum
The large town = oppidum  A) magnus B) magna C) magnum
The small town = oppidum  A) parvus B) parva C) parvum
The beautiful town = oppidum  A) bellus B) bella C) bellum
The good town = oppidum  A) bonus B)bona C)bonum

MATCH THE LATIN WORD WITH THE ENGLISH DEFINITION.

20. lignum a. the end
21. piscis b. tree, wood
22. finis c. day

23. dies d. water

24. mare e. the sea
25. aqua f. fish
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VISUAL LATIN 1 QuIZ 7

CHOOSE THE BEST ANSWER.

1. The subject of the sentence is in the case. A) nominative
B) genitive

2. The genitive case shows . A) the subject B) possession
C) action

3. Mater familiae A) family B) families C) of the family D) of the families
4. Mater pueri A) of the boy B) of the boys C) of the girl D) of the girls

Finis terrae A) end of theland B)landed end C)end oftheroad D) the
end of it all

Lux lunae  A) light of the sun  B) light of the earth  C) light of the moon
Lux stellae  A) light of the sun  B) light of the earth  C) light of the star
Lux stellarum  A) light of the sun  B) light of the star C) light of the stars

Terra obscura est. A) The land is dark. B) The land is light. C) The land is
empty.

o

© ® N O

10.The dark moon = /una  A) obscurus B) obscura C) obscurum
1. The bright moon =/una A)clarus B)clara C) clarum

12. The clear sky = caelum A) clarus B)clara C) clarum

13. The father of the boy A) puer B) pueri C) pueris

14. The father of the boys A) puer B) pueri C) puerorum

15. The mother of the girl A) puella B) puellae C) puellarum

16. The mother of the girls A) puella B) puellae C) puellarum

17. The people of the town A) oppidum B) oppidi C) oppidorum
18. The people of the towns A) oppidum  B) oppidi C) oppidorum
19. My town = oppidum A)meus B)mea C) meum

MATCH THE LATIN WORD WITH THE ENGLISH DEFINITION.

20. sol a. and

21. et b. bright, clear
22. luna C. sun

23. clarus, a, um d. moon

24. quoque e. two

25. duo f. also
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VISUAL LATIN 1 QUIZ 8

10.

1.

12.
13.

14.
15.

16.
17.

18.
19.

20.

21.

22.
23.
24.

25.
26.

CHOOSE THE BEST ANSWER.

English words that come from other languages are .A)
derivatives

Which word does not come from unus? A)unite B)dual C)union D)
unicorn

Which word does not come from duo? A)dual B)duel C)duo D) tricycle
Which word does not come from tres? A)tripod B)trio C)unified D) tricycle
Which word does not come from quattuor? A) dual B) quart C) quarter D) quadrant

Which word does not come from octo? A) octagon B) October C) octopus
D) helicopter

Henry exchanged a dollar for quarters. How many coins did he receive? A) one
B)two C)three D) four

In America, the colonies united. In other words, the colonies became  A) one
B) two C) three

September was once the month. A) first B) second

C) sixth D) seventh

November was once the month. A) sixth  B) seventh

C) eighth D) ninth

December was once the month. A) first B) second

C) ninth D) tenth

Birds of the sky... A) aves caeli B) aveslunae C) avesterrae D) aves aquae

People of the town... A) populi oppidi B) populi oppido C) populi oppidorum
D) aves oppidi

Aves volant in caelo. A) walk B)fly C)swim D) live

Aves volant in caelo. A) in the water B) ontheland C)onthe moon D)in
the sky

Pisces natant in aqua. A)walk B)fly C)swim D) live

Pisces natant in aqua. A) inthe water B) ontheland C)onthemoon D)in
the sky

Una femina in via est. A) one man B)onewoman C)oneboy D) one girl
Unus puerin via est. A) oneman B)onewoman C)oneboy D) one girl
Una luna in caelo est. A) one man B) onewoman C)one moon D) one star
one moon =/una A)unus B)una C)unum

one sky = caelum A)unus B)una C)unum

Deus creat duo magna luminaria. A) one large light B) two large lights

Die sol est lux terrae. A) light of the earth  B) light of the moon  C) light of
the town

What is the meaning of the word quoque? A) fifth B) five C) also
What is the meaning of the word animal? A) fish B) bird C) animal D) people
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VISUAL LATIN 1 QUIZ 8

27.The English word aviator comes from the Latin word A) avis B) aqua
C) dies D) luna

28. The English word solar comes from the Latin word A) dies B)luna C) sol
D) stella

29. A constellation is a sky picture made with  A) the sun  B) the moon C) stars
D) fish

30. A lunar model is a reconstruction of the A) the sun B) the moon C) stars
D) fish
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VISUAL LATIN 1 QUIZ 9

CHOOSE THE BEST ANSWER.

1. Vocomeans A)lcall B)Youcall C)Hecalls D)Theycall

2. Vocasmeans A)lcall B)Youcall C)Hecalls D)They call

3. Vocatmeans A)lcall B)Youcall C)Hecalls D)They call

4. Vocant means A)lcall B)Youcall C)Hecalls D)They call

5. Amomeans A)llove B)Youlove C)Heloves D) Theylove

6. Amas means A)llove B)Youlove C)Heloves D) They love

7. Amant means A)llove B)Youlove C)Heloves D) They love

8. Angelus cantat. A) The angel sings. B) The angels sing.

9. Angeli cantant. A) The angel sings. B) The angels sing.

10. Vir navigat. A) The man sails. B) The men sail.

1. Viri navigant. A) The man sails. B) The men sail.

12. Femina et vir ambulant. A)lwalk B)youwalk C)hewalks D) they walk
13. Femina ambulat. A)lwalk B)youwalk C)shewalks D) they walk

14. In terra bestiae magnae et bestiae parvae sunt. A) large beasts B) small beasts

C) beauty and the beast

15. In terra animalia multa sunt. A) large animals B) small animals C) many
animals D) mini animals

16. Femina et vir in horto ambulant. A)are B)live C)walk D)swim
17. Femina et vir in horto ambulant. A) inthe garden B) inthe forest C) inthe water
18. Viri in oppido ambulant. A) men B) beasts C)birds D) animals

19. Vir in oppido ambulant. A) inthe garden B)intown C)onland D)on
the moon

20. Hortus /ocus bonus est. A) alarge place B) a good place C) a far place
D) a bad place

21. The fish swim in the water. A) pisces B) avis C) bestia D) animalia
22. The fish swim in the water. A) ambulant B) pugnant C)amant D) natant
23. The desert is known for its arid climate. A)dark B)safe C)wet D)dry

24. Aviation, from Latin avis, is the study of A) water B) animals C) flight D)
gardening

25. He praised her pulchritude. A) intelligence B) beauty C)speed D)
motorcycle

26. Babies in England ride in pre-ambulatories, or Prams. The word means, “pre-
walker”. Apramisa A)car B)scooter C)stroller D) roller coaster

27. A diary is a personal daily record. Diary comes from the Latin  A) clarus B)
dies C) etiam

28. Obscure, meaning dark, comes from the Latin word  A) aridus  B) obscurus
C) non D) dies
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CHOOSE THE BEST ANSWER.

The direct object is the word that shows action. A) true B) false

. A complete sentence must contain a subject and a verb. A) true B) false
. In Latin, the direct object will be in the accusative case. A) true B) false

. Mom bought a new car. is the direct object. A)Mom B) car
C) bought
. Tom built a raft. is the direct object. A) Tom B) built C) raft

6. Marcus Juliam videt.

10.

1.

12.
13.

a. Marcus sees Julia.

b. Marcus loves Julia.

c. Julia loves Marcus.

d. Marcus stole Julia’s skateboard.
Marcus Juliam amat.

a. Marcus sees Julia.

b. Marcus loves Julia.

c. Julia loves Marcus.

d. Julia sees Marcus.

Mom vocat Marcum.

a. Mom calls Marcus.

b. Mom loves Marcus.

c. Marcus calls Mom.

d. Marcus loves Mom.

Julia in horto ambulat.

a. Julia loves the garden.

b. Julia is in the garden.

c. Julia walks in the garden.
d. Marcus walks in the garden.
Julia familiam amat.

a. Julia loves the sister.

b. Julia loves the brother.

c. Julia loves the family.

d. Julia loves Mom.

Vir laetus est. A) Heis happy. B) Sheishappy. C) The manishappy. D) The
woman is happy.

Femina laeta est. A) |l am happy. B) The manis happy. C) The woman is happy.
Cibus viri in horto est. A) The food of the man B) The woman’s food C) Her food
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14. Cibus feminae in horto est. A) The food of the woman B) The woman’s food C)
Her food

15. Cibus bestiarum in horto est.  A) The food of the beasts B) The food of the beast

16. Which noun is in the accusative case? A) mensa B) mensae C) mensis
D) mensam

17. Which noun is in the accusative case? A) femina B) feminae C) feminam
D) feminis

18. Which noun is in the accusative case? A) hortus B) horti C) hortum D) horto

19. Which noun is not in the accusative case? A) hortum B) feminam C) virum
D) mensa

20.Which noun is not in the accusative case? A) bestia B) puellam C) bestiam
D) terram

21. Which noun is not in the accusative case? A) dominus B) dominum C)
filium D) filiam

22. Which noun is in the genitive case? A) bestia B) bestiae C) bestiam D) bestias
23. Which noun is in the genitive case? A) terrae B)terra C)terram D) terras
24. Which noun is not in the genitive case? A) puella B) bestiae C) terrae D) mensae
25. Which noun is not in the genitive case? A) hortus B) pueri C)viri D) loci
26. The man and the woman walk in the garden. A)vir B)puer C)viri D) pueri
27. The man and the woman walk in the garden. A) femina B) puella C) feminae D) puellae

28. The man and the woman walk in the garden. A) navigat B) ambulat C)
navigant D) ambulant

29. The man and the woman walk in the garden. A)interra B)inluna C)in
aqua D) in horto

30. There are many plants in the garden. A) est B)estne? C)sunt D) suntne?

31. There are many plants in the garden. A) multi herbi B) multa herba C)
multae herbae

32. The garden is good and beautiful. A) hortus B) horti C) herba D) herbae

33. The garden /s good and beautiful. A) est B)estne? C)sunt D) suntne?

34. The garden is good and beautiful. A) bonus et magnus B) bonus et pulcher

35. Mom calls Marcus. A)Marcus B)Marcum C)Marco D) Polo

36.The book was her magnum opus. A) great enemy B) great friend C) great work

37. Multitudes gathered in front of the building.  A) many people B) few people

38. The phone is a modern innovation. An innovation is a idea.
A)dumbidea B)newidea C)oldidea D) bigidea

39. Terrain is another word for land. Terrain comes from the Latin word  A) terra
B) opus C) dies

40. Horticulture is the study of gardens. It is based on the Latin word  A) omnes
B) non C) hortus
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INECINIES

10.

1.

12.

13.

14.

CHOOSE THE BEST ANSWER.

To speak directly to people in Latin, use the vocative case. A)true B) false
The word vocative comes from the Latin word amo.  A) true B) false
If a name ends in -a, no change is necessary to form the vocative. A)true B) false

If a name ends in -us, replace it with to form the vocative.

A)-a B)-e C-d D)-i

Which is the vocative spelling of the name Tacitus. A) Tacitus B) Taciti C) Tacite
D) Tact

Which is the vocative spelling of the word dominus? A) dominus B) domino
C) domine

Which is the vocative spelling of the name Marcus? A) Marcus B) Marce C) Marci

Which is the vocative spelling of the name Davus? A) Davus B) Davi C) Dave
D) David

Which is the vocative spelling of the name Quintus? A) Quintus B) Quint C)
Quinte

Julia in aqua est.

a. Juliais in the water.

b. Julia is in the sea.

c. Juliais in the family.

d. Julia is in the room.

Casa familiae non magna est.

a. the house of the man

b. the house of the family

c. the house of the woman
Femina in aqua est.

a. The woman is in the water.

b. The man is in the water.

c. The family is in the water.

d. The family is drinking the water.
Cibus viri fructus est.

a. Fruit is the food of the woman.
b. The man’s food is fruit.

c. Vegetables are the food of the man.
d. The man is eating fruit.

Femina et vir in horto ambulant.  A) the man and the woman B) the man
C) the woman
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15. Femina et vir in horto ambulant. A) walk B)swim C)call D) see
16. Animalia in agua non sunt. A) the animals B) the boys C)the girls D) the men

17. Animalia in aqua non sunt.  A) are in the water B) are not in the water C) are in
the field

18. Fructus cibus bonus est. A) the vegetable B) the fruit C)the bread D) the pie
19. Fructus cibus bonus est. A) good fruit B) bad fruit C) good food D) bad food

20. Puellae sunt laetae. A) The boys are happy. B) The girls are happy. C)
Everyone is happy.

21. Which name is in the nominative case? A) Marcus B) Marci C) Marcum
D) Marce

22. Which name is in the genitive case? A) Marcus B) Marci C) Marcum D) Marce

23. Which name is in the accusative case? A) Marcus B) Marci C) Marcum
D) Marce

24. Which name is in the vocative case? A) Marcus B) Marci C) Marcum D) Marce

25. My friend swims. A) Amicus meus natat. B) Amici mei natant.  C) Filius
meus natat.

26. My friend (feminine) swims. A) Amicus meus natat. B) Amica mea natat.
C) Filia mea natat.

27. My friends swim. A) Amicus meus natat. B) Amici mei natant.  C) Filius
meus natat.

28. The friend of the woman is a good friend. A) amica feminae B) amica viri
C) amica pueri

29. The happy girls sing. A) puella laeta B) puellae laetae C) puellairata D)
puellae iratae

30. The happy girls sing. A) ambulant B) natant C) cantant D) amant
31. The happy boys sing. A) puer laetus B) puerilaeti C) pueriratus D) pueri irati

32. Marcus loves Julia. A) Marcus Annam amat. B) Marcus Juliam amat. C) Marcus
est amicus Juliae.

33. Marcus sees the town.  A) Marcus Juliam videt. B) Marcus oppidum amat. C)
Marcus oppidum videt.

34. Marcus sees the man. A)vir B)viri C)virum D) viro
35. Marcus sees the woman. A) femina B) feminae C) feminam

36. Because of her amicable personality, she has many friends. A) mean B) happy
C) friendly

37. She spoke amicably tous. A) harshly B) friendly C) slowly D) smurfily

38. The car was parked in the median. A) basement B) garage C) middle of the road

39. The doctor examines vital signs for evidence of A) life B) health C) energy
D) money

40. Charles Lindbergh flew so/o over the Atlantic. A) high B) happily C) rapidly
D) alone
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CHOOSE THE BEST ANSWER.

1. To call people by name, use the vocative case. A)true B) false
2. To point things out in Latin use the indicative mood. A)true B) false
3. To give commands in Latin use the indicative mood. A)true B) false
4. Imperative comes from which Latin word? A)indico B)impero C) voco
D) video
5. The word impero means A)lhear. B)lsee. C)Ilcommand. D)I pointout.

6. Which is the imperative form of the word voco? A)voco B)vocas C) vocat
D) voca

7. Which is the imperative form of the word video? A) video B)vides C) videt
D) vide

8. Which is the imperative form of the word audio? A)audi B)audio C) audis
D) audit

9. Which is the imperative form of the word amo? A)amo B)ama C)amas
D) amat

10. Which is the imperative form of the word venio? A)venio B)veni C) venis
D) venit

1. Which word is not a verb? A) audio B)comedo C)venio D) vir
12. Which word is not a verb? A)amo B)femina C)video D) voco
13. Which word is not averb? A)timeo B)habeo C)voco D) serpens
14. Which word is notanoun? A)timeo B)vir C)puer D) puella

15. Which word is notanoun? A)mensa B)hortus C)respondeo D)
vestimentum

16. Julia feminam audit.  A) Julia hears the man. B) Julia hears the woman.
C) Julia sees the man.

17. Casa feminae parva est.  A) the house of the man  B) the house of the family
C) the house of the woman

18. Puer et puella cibum habent. A) The boy and the girl have water. B) The boy
and the girl have food. C) The boy and the girl walk.

19. Serpens virum timet. A) The man fears the serpent. B) The man sees the
serpent. C) The serpent fears the man.

20. In horto serpens est. A) There is a man in the garden. B) There is a serpent in
the garden. C) There are snakes in the forest.

21. Fructus non malus est, sed bonus. A)good B)bad C)ugly
22. Fructus non malus est, sed bonus. A)good B)bad C)ugly
23. Femina carpit fructum. A) picks B)sees C)hears D) likes
24. Femina comedit cibum. A) picks B)sees C)hears D) eats

25. Femina non aquam in culina habet.  A) has water B) has food C) does not have
water
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26. Femina non aquam in culina habet. A) in the garden B) in the kitchen C) in the field
27. Non verum est. A) ltisnottrue. B)It'strue. C)It'sgood. D) It’s not good.
28. Verumest. A)ltisnottrue. B)It'strue. C)It'sgood. D) It’s not good.

29. Femina vestimentum facit. A)avest B)invest C)clothing D) arobe

30. Which name is in the nominative case? A) Julia B) Juliae C) Juliam

31. Which name is in the genitive case? A) Julia B) Juliae C) Juliam

32. Which name is in the accusative case? A) Julia B) Juliae C) Juliam

33. Which name is in the vocative case? A) Julia B) Juliae C) Juliam

34. The man calls the woman. A) Vir vocant B) Vir vocat C) Vir audit D) Vir videt
35. The man calls the woman. A) femina B) feminae C) feminam D) feminas
36. The man makes clothes. A)videt B)amat C)audit D) facit

37. The man calls a friend. A)vocat B)amat C) audit D) facit

38. The man calls a friend. A) hortum B) amicum C) virum D) puerum

39. The woman has wisdom. A)vocat B)amat C) habet D) facit

40. The woman has wisdom. A) sapientia B) sapientiae C) sapientiam
D) serpens

41. Does he hear the man? A) vocatne? B)amatne? C) habetne? D) auditne?
42. Does he hear the man? A)vir B)femina C)virum D) feminam

43. Marcus loves the town. A) Marcus Juliam amat. B) Marcus oppidum amat.
C) Marcus oppidum videt.

44, Marcus sees the woman. A) femina B) feminae C)feminam D) puella
45.She spoke in an audible voice. A) quiet B) happy C) friendly D) hearable
46. The audience should be  A) shouting B) listening C) smiling D) snorting

47. An interrogative sentence is a sentence that A) declares B) commands
C) asks D) exclaims

48. Dad was tired of driving on the serpentine road. A) straight B) long
C) snakelike D) short

49. He was far too timid to speak in public.  A) tall B) fearful C) short D) happy
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CHOOSE THE BEST ANSWER.

1. The ablative has one use only. A) true B) false
2. Prepositions are often used with the ablative case. A) true B) false

3. Join the preposition to the ablative noun. Sine  A)agua B)aquae C)agquam
D) aquas

4. Join the preposition to the ablative noun. Sine  A) inimicus  B) inimici  C) inimico
5. Join the preposition to the ablative noun. Sine  A) tunica B) tunicae C) tunicam

6. Join the preposition to the ablative noun. Pro A)bonus B)boni C)bono D)
bonum

7. Join the preposition to the ablative noun. Pro  A) patriam B) patria C) patriae

8. Join the preposition to the ablative noun. Cum A) amicus B)amico C) amici
D) amicum

9. Join the preposition to the ablative noun. Cum A) femina B) feminam C) feminae

10. Join the preposition to the ablative noun. Ex A) terrae B)terra C) terram
D) terrible

1. Which word is not a verb? A) custodio B)amo C)tunica D) voco
12. Which word is notaverb? A)intro B)habeo C)voco D) pellica

13. Which word is not anoun? A)dolor B)intro C)puer D) puella

14. Which word is not a noun? A) pellica B)inimicus C) pectus D) audio

15. Animalia in terra sunt. A) onearth B)onthemoon C)onthesun D)in
the field

16. Bellum in terra est. A) There is war on earth. B) There is war in the land.
C) There are wars on the earth. D) There were wars in those territories.

17. Herbae in horto sunt. A) herbs B) plants C) herbaltea D) herbivores
18. Herbae in horto sunt. A) in the field B) in the world C) in the garden D) in the road

19. Terra sub luna est. A) onthe moon B) near the moon C) under the moon
D) over the moon

20. Piscis sub aqua natat. A)swims B)walks C)sees D) flies

21. Piscis sub aqua natat. A) in the water B) under the water C) on the water
D) over the water

22. Femina et vir sub luna ambulant. A) onthe moon B) under the moon C) over
the moon

23. Femina et vir sub luna ambulant. A) The woman and the man stand... B) The
woman and man see... C) The woman and man walk....

24. Die lux non de luna venit. A) In the day, light comes from the moon. B) At night,
light comes from the moon. C) In the day, light does not come from the moon.

25. Cibus pro vita est. A) forever B)foryou C) forlife D) forthe road
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26. Stellae in caelo sunt.  A) There is a star in the sky. B) The moon is in the sky.
C) The sunisin the sky. D) There are stars in the sky.

27. Puellae cum amicis sunt.  A) with girls  B) with a friend C) with friends D)
with coffee

28. Vir portam custodit. A) The man cleans the kitchen. B) The man guards the
door. C) The custodian is at the door.

29. Vir et femina non hortum intrant. A)livein B)see C)enter D) exit
30. Pueri ex loco ambulant.  A) out of time  B) out of the place  C) out of this world

31. Which name is in the nominative case? A) Quintus B) Quinti C) Quintum
D) Quinto

32. Which name is in the genitive case? A) Quintus B) Quinti C) Quintum D) Quinto

33. Which name is in the accusative case? A) Quintus B) Quinti C) Quintum
D) Quinto

34. Which name is in the ablative case? A) Quintus B) Quinti C) Quintum D) Quinto
35. Which name is in the vocative case? A) Quintus B) Quinti C) Quintum D) Quinte
36. The fish is under water. A) sub aguam B) sub agua C) sub akwa D) in aqua
37. Mom is in the house. A) praecasa B)subcasa C)ecasa D)incasa

38. He learned it from a book. A)sublibro B)exlibro C)inlibro D) pro libro
39. There is an animal below the tree. A) animal est B) animal sunt C) animalia sunt

40. There is an animal below the tree. A)inligno B)subligno C)eligno D)
prae ligno

41. At night, light comes from the stars. A) lux venit B) lux audit C) lux est
D) lux sunt

42. At night, light comes from the stars. A) pro stellis  B) in stellis C) de stellis
D) a stella

43. Water is for life. A) Agua prae vitaest. B) Aqua in vitaest. C) Aqua pro vita est.
D) Aqua est vita.

44. The man walks out of the house. A) vir audit B) vir habet C) virambulat D) vir est
45. The man walks out of the house. A)acasa B)ecasa C)subcasa D)incasa

46. The pilot gjected from the plane. A) climbed B)jumped C) ejected
D) strolled

47. Lucy found a portal/ to Narnia. A) key B)window C) stairway D) door
48. Pectoral muscles are located inthe A)head B)chest C)legs D) toes

49. A submarine travels the water. A)on B)over C)under
D) through

50. The exit took him thecity. A)into B)outof C)around
D) through
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CHOOSE THE BEST ANSWER.

A pronoun replaces a noun. A)true B) false

A pronoun replaces a verb.  A) true B) false

There is only one kind of pronoun, the personal pronoun. A) true B) false
Interrogative pronouns introduce questions. A) true B) false

Prepositions are often used with the ablative case. A) true B) false

Give the translation of the pronoun. Quis? A)who B)what C)when D) where
Give the translation of the pronoun. Quae? A) who B)what C)when D) where

® N O OA NN

Give the translation of the pronoun. Quid? A)who B)what C)when D) where
9. Give the translation of the pronoun. Cuius? A) who B)whose C)how D) when
10. Give the translation of the pronoun. Quorum? A) who B) whose C)how D) when
11. Give the translation of the pronoun. Quem? A) who B) whom C) where D) whose
12. Give the translation of the pronoun. A quo? A) from where B) from what C) from whom
13. Which word is not a pronoun? A)quid B)habeo C)quem D)quo

14. Which word is not a pronoun? A) quid B)quis C)hortus D) quo

15. Which word is a pronoun? A)quem B)amo C)audio D) mensa

16. Quis est? A) Whoseisit? B)Whoisit? C)Howisit? D) Whereis it?

17. Quid est? A) Whoseisit? B)Whoisit? C)Howisit? D) Whatisit?

18. Quae in casa est? A) Where is the house? B) What is in the house? C) Who
is in the house?

19. Quid in casa est? A) Where is the house? B) What is in the house? C) Who
is in the house?

20. Cuius casa est? A) Where is the house? B) What is in the house?
C) Whose house is it?

21. Quem audit?  A) Who is listening? B) Whom does he hear? C) Whom does
he call?

22. A quo venit aqua? A) Who brings water? B) From where does the water come?
23. Quis puer est? A) Who is the boy? B) Whois the girl? C) Who is the man?
24. Quae puella est? A) Who is the boy? B) Whois the girl? C) Who is the man?

25. Qui ambulant in horto?  A) Who is walking in the field? B) Who is walking in the
garden?

26. Qui duos filos habent? A) Who has ason? B) Who has two sons? C) Who has
three sons?

27. Duo filii in agris laborant.  A)twomen B)twoboys C)twowomen D)two
sons

28. Duo filii in agris laborant.  A) in the field B)in the fields C)inthe water D) on
the moon
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29. Duo filii in agris laborant. A)work B)walk C)swim D) fight

30. Pastor in agro est. A) The pastor